
Why we need to exactly satisfy essential BC when using energy methods
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For energy method, we need to exactly satisfy all essential BCs. 
Unlike different forms of WRS, here we have not choice. We 
must satisfy them for trial functions.

-> "Essential"

Let's look at energy statement again:
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So the increment of a trial solution w.r.t. the exact solution is 
zero at all essential BCs (similar to the weight function 
condition in weak statement)

Derive the energy statement for a bar problem:
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Let's discuss what we can conclude from the inequality in equation (I)

Instead of functionals (a scalar function whose argument is a function as in the case of energy functional), let's focus on 
functions from real numbers to real numbers
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